Standard:  SS6E6 The student will analyze the benefits of and barriers to voluntary trade in Europe.  Element A  Compare and contrast
 different types of trade barriers, such as tariffs, quotas, and embargos.
Trade Barriers Activity
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Countries establish policies to restrict trade in order to protect homeland industries or new industries, to protect jobs,
 and to gain income for the government. For example, in the 1970s, unions and U.S. automobile manufacturers 
supported quotas on less expensive imported cars to help keep their own products competitive.

Read the following definitions of trade barriers. Then in cases 1-5, decide what kind of barrier is being imposed.

Definitions
Tariff: A tax on imported goods.

Quotas: A limit on the quantity of imports.

Export Subsidy: Government payment to competing firms in its own country. This allows firms to sell their goods at lower prices
 thus competing well in both their country and other countries.

Product Standard: Safety requirements, product features, and packaging requirements.

Embargos:  Government prohibits exports or imports of certain products or specific countries from trade.

Cases:
1. A tax of 15% makes jewelry from Mexico more expensive than jewelry make in the United States. 
2. Korea may export only 15,000 automobiles a year to the United States. 
3. The rungs on the ladder of any bulldozer sold in Germany must be 12 inches apart, but US manufacturers generally make the
 rungs 15 inches apart.
4. A new textile firm asks its government to provide financial assistance to make it possible to sell its products overseas at a 
 lower price that will compete well in other countries.
5.  US companies were not allowed to trade with Cuba. US citizens were prohibited from traveling to Cuba (except under special circumstances). 

Answer 6 – 10 multiple choice questions.
6. The United Kingdom Customs Service has found toxic lead-based paint in toys imported from a Chinese toy-making 
company.  These toys are intended for sale in the United Kingdom.  Exposure to the paint over a long period of time 
could be fatal to children under 6 years old.  What type of trade barrier would guarantee that no child in the United 
Kingdom would be exposed to the deadly lead-based paint?

A.  embargo

B. quota

C. exchange rate

D. tariff
7.   A country’s parliament votes to increase tariffs upon goods from another country.  This is an example of 

A. a monarchy encouraging free trade.

B. a representative democracy restricting trade.

C.  a socialist congress preventing free enterprise.

D.  a communist government allowing freedom of speech.

8.  Which trade barrier discourages trade by placing a tax on foreign goods?
A.  Embargo

B. Quota

C. Subsidy

D. Tariff

9.  A __________ is a limit on the quantity of goods that can be imported into a country. 

A. embargo

B. quota

c. subsidy

d. tariff
10.  True or False.
Quotas, Embargos, and Tariffs are all considered trade barriers.  
